Government of Jammu and Kashmir Office of the Executive Engineer, Water Supply Master Plan Division, Srinagar.

M/s Tarlq Ahmad Shah, S/o: Gh. Ahmad Shah, R/o: Soibugh, Distt. Budgam Rogd. No.; SE(R&B)SB-B-49 of 2006-07 Allotment Order No.: 39 of 2021 Datodi 05-01-2022

GST: 01BBTPS9053EIZE

Subject:-

Allotment for Construction of 0.50 Lac Gailons under Ground Sump at Tube Well Site Water Supply Scheme Poshe Pathri (under Jai Jeevan Mission).

Reference :- i.

Your tender in response to this office c-NIT No.26/WSMP of 12/2021 dated: 04-12-2021 (S. No.01) issued under endorsement No.7106-7138 dated: 04-12-2021.

Corrigendum No.1 issued under endorsement No.7255-59 dated: 09-12-2021. ii.

Corrigendum No.2 issued under endorsement No. 7535-39 dated: 15-12-2021. 111.

Tender Id:-

2021_PHE_151633_1

Advertised Cost:-

Rs.24.36Lacs (Rupees Twenty Four Lac and Thirty Six Thousand Only).

Allotted Amount:- Rs.2238126.00 (Rupees Twenty Two Lac Thirty Eight Thousand One Hundred

and Twenty Six Only.)

Time of Completion: 90 Days

Head of Accounts:- Jal Jeevan Mission

For and on behalf of the Lt. Governor, UT of Jammu and Kashmir, the above

noted work is hereby allotted to you on the following quoted rates, terms and conditions: S.No Item of Work Unit Quantity Amount Earth work in excavation by mechanical means (hydraulic excavator) in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including 596.14 80478.00 Cum 135/Cum (Rupces One Hundred and Thirty Five Only per Cum) dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed, within a lead of 50 metres: All kinds of soil: 02. Providing and laying dry stone soling in foundation trenches hand packed and 15.60 650/Cum 10140.00 (Rupees Six Hundred and Fifty Only per consolidated by hand ramming (Nallah). 03. Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 10.40 3800/Cum 39520.00 1:4:8 (1 cement : 4 coarse sand : 8 Cum i. graded stone aggregate 40 mm nominal size) Reinforced cement concrete work in walls 04. (any thickness) including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts upto floor five level including curing but excluding

Allation ext

1

1

rein	of containg shiftering, finishing and forcement. 1:1 M:3 (1 camont : 1 M coarse 6 mind : 3 graded stong nygrogate 20 mm nominal	Guin	77.76	7025/Cum (Nijhire Korn Thouse of and the Thouse of and the This day per con		
1.0	widing and laying in position specified ade of reinforced coment concrete cluding withing but excluding the cost of intering, shuttering, finishing and inforcement. All works upto plintly level 1:2:4 (1 coment : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	Oum	15.72	4800/Cut Empris Favi Tribland and E Hundred Cody	,	6.00
,	Bled reinforcement for R.C.C. work including straightening, cutting, bending placing in position and binding all complete upto plinth level 1. Cold Twisted bars.	Kg.	10293.0	2011	8440	26.00
08	Providing and mixing water proofing material in coment concrete work in proportion recommended by the manufacturers.	Kg.	274.0	85/Kg payees blow		00,00
(10)	Centering and shuttering includin strutting, propping etc. and removal of form for: i. Poundations, footings, bas of columns etc. for ma concrete.	of au Bam	6.00	260/8 (Rupers Thre and Bluny O	Huadred My per	33.00
	li. Walls (any thicknot including attached pliaste buttresses, plinth and structures etc. lii. Columns, pillars, pi abutments, posts and structure.	ers, dag ers, So		74 (Rupes)	Four nd Histy r Byol	380.00
	iv. Lintel, beams, plinth beagirders, bressumers cantilovers.	- 1	qm 30),89 465 (Rup Hundre Piva On		4364,00
	landings, balconies and a platforms.	CCEBB	3qm 7	1.77 510 (Rupres and 7	O/Bam Fire Hundred on Only per Bami	36603,00
	O9. Extra for shuttering in circular (20% of respective contoring Shuttering items). i. Poundation	and	8qm	23.56· S	0 / Bqm	1178.00
	li. Walls		8qm) (1 1/2 un	15/8qm ces One Hundred Phiere Only per \$4m)	12428.00
	iii. Beam		8qm	-	19/8qm pers fairness Only per sound	158.00
	iv. Suspended Floor. 10. 12mm Coment plaster of mix:		8qm	71.77	70/Sqm	5024.00
	i. 1:4 (1 coment:4 fi	ne sand)	8qm-	363,64	225/89TM Rupped two Handred and twenty the Oaty Pet Fami	81819.00

K

	Providing and fixing of MS lid / Indder / locking armagement including cost of link locks for gate / MS lid / Sinice Chamber and Service Reservoir.	dol.	()1 -	12000/Job mm78s twithe Thomsand Only per Jold	12000.00
	Providing and fixing of Sluter /regulatory valves of standard make like Kirleskar / VAG / Zelete or my other standard make including auts, bolts, welding (If required) washers etc. Complete. (Complete Job), i. 100mm dia Sluice Valve.	No.		02	20100/No. (Rupers Tyraly Thousand and One Hundred Only per No.)	40200.00
13.	Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming cont of approved steel primer using structural steel etc. as required. i. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	Kg.	3		115/Kg. [Rupers One Hundred and Phinces Only per Kel	34500,00
14.	Providing and fixing of MS Flanged joints including Cutting of threads, cost of muts and washers / welded joints including litre charges of welding machine / generator (For wash out / overflow grid and Sluice Valve). i. 100mm dia MS Flanged Joints ii. Welded Joints 100mm	i i		10	370/No. [Rupera Three [Ilundref and Seventy Only per No.] 850/No. [Rupers Eight Hundred and Filty Only per No.]	3700.00 8500.00
15.	Providing, electrification includir installation providing and fixing of macontrol board (32Amp MCB) wire 1.5m and 4.0mm for heating and lightly points round and square plated with base, SS Combine 15Amp, 25Am 25mm PVC Channel, 5 Amp Switch Angle holders, 16Amp LED Lamps, Core Wire from nearby source includiall the necessary accessories required successful testing and commissioning electrical system etc. complete job. i. Heating Points (for Chowking Quarter)	in m ng th in	No.	V 06 V 08	3800/No Rupers Three Thousand and El Hundred Only I No.	17600.00
	ii. Lighting Points (for Chowled Quarter) iii. Street lights Syska / Phi 100W made (for Chowledge Operators Quarter)	ilips ar /	No.	02	2200/Ni (Rupers Tw Thousand and Hundred Only No.) 9000/Ni (Rupers Ni Thousand On No.)	O. 18000.00
16	with G.I. fittings excluding trenching	ork)				

1°

1,

C

JE E

The state of the s

The state of the s

with the second second

		レ	~	
i. 100 mm dia. nominal bore	Mir.	62.00	1350/Mtr.	83700.0
ii. 80 mm dia. nominal bore	Mtr.	62.00	1000/Mtr, (Rupara One Travanad Only per Hy I	62000,00
Carriage of material from various available sites to site of work by mechanical transport including			100/MT	5126.00
loading, unloading and stacking. i. Cement / Steel from Divisional Store avg. 10Kms.	MT	51.262	(Rupers One Hundred Only per MT)	
ii. Sand for an avg. lead of 15Kms.	Cum	51.32	125/CUM [Dupers One Hundred and Twenty Five Only per Com	6415.00
iii. 20mm aggregate avg. lead 5Kms.	Cum	84.13	55/CUIII (Bulgest Filty Fire Only per Count	4627.00
iv. 40mm aggregate avg. lead 5Kms.	Cum	9.36	70/Cum (Rupees Seventy Only per Case)	655.00
v. Stone Soling / boulders avg. lead of 5Kms.	Cum	15.60	100/Cum (Eupora One Hundred Only per Cumi	1560.00
			Total	2238126.00
Rupees Twenty Two Lac T	1 JAn Dinks	Thousand On	e Hundred and Two	enty Six Unly.
Rupees Twenty Two Lac T	mity Eight	1200000	er and the conditions	- 1-14 damm

١.

This letter of allotment / acceptance of the contractor will constitute a legal contract and the conditions as laid down in advertised NIT / rate list printed PWD for 25 double agreement form will hold good even before the drawal of agreement between the contractor and department.

The time of completion of work is 90 days which shall recknied from the date of dispatch of this allotment. Terms and Conditions:

The time of completion of work is 90 days which shall reckoned from the date of dispatch of this allotment.

The CDR for Rs.70000/- [Rupess Seventy Thousand Only] vide No.266685 dated: 31-12-2021 has been retained in this 3.

office as security deposit for the contractor.

The payment shall be made after placement of funds to this division by the competent authority.

You are directed to attend the office of under signed within 7 days for drawal of necessary agreement with this 5.

Alioument issued on the basis individual item rates, which will not be treated as any bench mark for 6.

Typographical errors or omissions, if any, in the contents of this order shall be rectified in the agreement. All other terms and conditions shall remain same as laid down in detailed NIT & PWD form 25 double.

ative Engli sply Master Plan Divisio

The Chief Engineer, Kashmir PHE Department, Srinagar for favour of information.

Superintending Engineer, Hyd. Circle, Srinagar / Ognderbal, Head Quarter Srinagar, for information.

Asstt. Executive Engineer, Distt. Sub Division 200 Srinagar, for information and necessary action.

Asstt. Accounts Officer for information. 01.

02. Assit. Accounts Officer for information. Head Draftsman for information.

04. 05.

File Concerned.